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QUESTION 1

The BIG-IP Administrator needs to ensure the correct health monitor is being used lor a new HTTP pool named
P_example. Where should the BIG-IP Administrator validate these settings in the Configuration Utility?

A. Local Traffic > Nodes > Default Monitor

B. Local Traffic > Profiles > Services > HTTP > http
C. Local Traffic > Monitors > http

D. Local Traffic > Pools > P_ example

Correct Answer: D

QUESTION 2

An LTM device has a virtual server mapped to www5f.com with a pool assigned. The objects are defined as follows:
Virtual server. Destination 192.168.245.100.443 netmask 255.255.255.0 Persistence: Source address persistence
netmask 255.0.0.0 SNAT:AutoMap Profiles: HnP/TCP How should the BIG-IP Administrator modify the persistence
profile so that each unique IP address creates a persistence record?

A. netmask 0.0.0.0

B. netmask 255.255.255.255

C. netmask 255.255.0.0

D. netmask 255.256.255.0

Correct Answer: B

QUESTION 3

Assume a client\\'s traffic is being processed only by a NAT; no SNAT or virtual server processing takes place. Also
assume that the NAT definition specifies a NAT address and an origin address while all other settings are left at their
defaults. If the origin server were to initiate traffic via the BIG-IP, what changes, if any, would take place when the BIG-
IP processes such packets?

A. The BIG-IP would drop the request since the traffic didn\\'t arrive destined to the NAT address.

B. The source address would not change, but the destination address would be changed to the NAT address.

C. The source address would be changed to the NAT address and destination address would be left unchanged.

D. The source address would not change, but the destination address would be changed to a self-IP of the BIG-IP.
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Correct Answer: C

QUESTION 4

Which cookie persistence method requires the fewest configuration changes on the web servers to be implemented
correctly?

A. insert

B. rewrite
C. passive
D. session

Correct Answer: A

QUESTION 5

Assume a virtual server is configured with a ClientSSL profile. What would the result be if the virtual server\\'s
destination port were not 4437

A. SSL termination could not be performed if the virtual server\\'s port was not port 443.

B. Virtual servers with a ClientSSL profile are always configured with a destination port of 443.

C. As long as client traffic was directed to the alternate port, the virtual server would work as intended.

D. Since the virtual server is associated with a ClientSSL profile, it will always process traffic sent to port 443.

Correct Answer: C
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